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>rocessing part (chapter 2)

31 How long does it take t6 grow 100 nm-of oxidedn wet oxygen at1000 °C (assume 100 sil.
icon)? In dry oxygen? Which process would bepreferred? ' |

Uxide  growth
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EXERCISES

1) Calculate the maximum deflection ad maximun stresses for a square silicon mentbrane
of thickness 10 g and side length 2 mm Tor an applicd pressure of 1000 Pa.
For silicon, £ = 190 GPa and # =0.28,

s

A silicon cantifever beam with o piezoresistor located af the pait of Raximum stress is
stbjected ton point foad @ o the entd of the beam. € is 10 (N, the length of the bean is 1000 pn,
and the beam tiickness is 3 . Cateebnte e boam width that resulis o a 3% nesislance change

for the piezaresistor due Lo the Toad (2. Assume the beant lies perpendicelar to the silicon <1105
laktice direction,

3)

Whal is the resonant frequency #, for a silican cantilever heam HOD0 ju fong, 160 pun
wide, andt 3 oy thick? Fhe density of silivon is 2.3 glen.
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